Question Type-01; T, ME 8 TATEH TN 2(S FACP ©

ax? + by? + 2hxy + 2gx + 2fy + ¢ = 0
FF 92 AT B B 3,
(i)§8:a=bh=0
(ii) *i¥1gS: ab = h?
(iii) ©2/g@: h? < ab
(iv) ©If&ga: h? > ab
TR RSy wigfon srael ~Rgras 2R crear <=t
(i) 998 y? = 4ax T, ©4T (a,0), Facsa e ad x = —aAx+a =0
G2 CATHGF g TAea x = aqf x—a = 0.
(ii) *IAIg@ y? = —4ax (A, TG (—a, 0) M Fi{wqd :x =a. TFy = 0
(iii) RIS x? = 4ay (A, ©AF7 (0,a) FAEI WA y = —a. TFx = 0 Q32 TAF G AT
ATy = a
(iv) 799G x? = —4ay T, &7 (0, —a) A T 1y = a, TF x = 0 IR TGS 0TI

TPy = —a
/ \l Y g , Y yea
y* = 4ax 2= - 4ax Z E A -
/] A > X r.I‘I
_ Z y=2 ;
(1) (ii) (iii) (iv)
R (I ~IAgeed e REaeeR oa (el 7o _
LEIE (R REIEE] gEIB (R RT
MA P{x.y)
(2) x STHCF 2RIYLST TF U y WHLS O FATF =t [{ewa
I LS ANPa: y2 = 4a(x —a);a > 0 % >~ X
»
LY
(b) TERLT CAFH AR y THF KIS TF I o0 | < S "
ICAA A x2 = 4a(y +a); +a > 0
A
By 1Z M




() y IFF I TF R x FFT ©F faws 3t frw i
[RT51 3 ~R1qres ARt x2 = a(y —a);a > 0
A

(d) SPETRT x WUFG ANGAT 932 =E &5 A(x,, ;) 9F
RIeET ANFA: (y — y1)? = 4a(x — x);a > 0

X'
Ya .
(c) SRS, SIRIR y ST Faieare 3 s R A(x,, v1) +5
A I AR - i
(x—x1)* =4a(y—y,);ia>0 A
N I X

BB-(i) : y? = —4a(x + a),y? = —4a(x — a),x? = —4a(y + a),x? = —4a(y — a);

(a < 0) *RIYCSA % @ MR IAF a,b,c,d @ P « ¥ *=wes oF ¢ MR 93 57 fom
RIgaefeTa C4fEt T Tret! e 71 9d1R a,b, ¢, d @ P @3 Boiey 8 Naeea 9wm @ et sits ©iF
Tt AT, Sfafie “miqsefem Soitew 8 fae A,

RBI-(ii) : x SUFT AN &% (2 HAJrea T2t x = ay? + by +¢,a # 0

RBI-(jii) 1 y ST AT O ({2 A<1g0ea T4t y = ax? 4+ bx + c,a # 0

Related Questions:
0. x = acos® + bsinB,y = asinB - bcos 8 & FAF AANFF? [DU’20-21]

(a) ellipse (b) parabola (c) circle (d) hyperbola

HAAIYIF: (¢); x = acos0 + bsinO ; y = asin6 — bcosH
x% + y? = (acos 0 + bsin 8)% + (asin 8 — b cos 0)?2
= a% cos* 0 + b?sin? 0 + a? sin® 0 + b2 cos? 0 + 2ab sinHcos® — 2ab sin B cos 6
= a?(sin® 0 + cos? B) + b%(sin? B + cos? 8) = a? + h?
> x°+y*=a’+b?ox?+y?= (v’ai+h2')2 - circle
02. 17x% — 2xy + 17y? — 104x — 140y + 446 = 0 I ERI7 THififeT «ifdvy 72 [CU’20-21]
(a) 9@ OREFE] (c) T4y (d) Toga
AYE: (d); ax? +by? + 2gx+ 2fy + 2hxy + c = 0 QI AMA TN IR 2R, h=—-1;a=b = 17 &A1,
h? = 1 992ab = 289 = h? < ab N¢iR HfFH To[a|

g S ] -

e —




1" Al g
| YR, THo4 T T 3

03. 2x% —4xy + 3y — x + y — 1 = 0 STAR=w= e Fo1 @AG? [SUST?19-20]
(a) *RIYT (b) 3= (c) &y8 (d) wiw3gg (e) Coier AL
a h g 2 -2 _%I
TE: (€);A=|h b f|l=|-2 3 |=-2=0
g f c N |
2 2
h®* =4, ab=6, h2 < ab - T
04, y?—4y —x2 + 6x = 12 AT 17 (30T 32 [DU’18-19]
(a) 38 (Circle) (b) ©=g@ (Ellipse)  (c) *19G (Parabola) (d) &f%9@ (Hyperbola)
T (d); x° 8 y? @7 B o1l @ xy M 7% | =12 wiige 2o T4 |
05. &g (2,0) a= x + 2 = 0 Fome R[FEE FAYCET T @HG? [JU°18-19]
(a) y% = 4x (b) y* = 8x (c) x% = 4y (d) x? = 8y
T (b); (x — 2)% +y? = (x+ 2)% = y? = 8x
06. 11x?+ 14y? — 4xy — 48x — 24y + 66 = 0 T I Foit 307 [RU’18-19]
(a) 38 (b) “a1gs (c) &13@ (d) sige
TYE: (¢); ab —h? =11 x 14 — (—2)2 =150 > 0 -~ TRg|
07. x*=-4ay, a>0 TFEIR @F fis S1fFe? [RU’13-14]
(2) x- STFR T (b) y-STFATRME  (c) y- WrFa I (d) x- wows [
y

MEIFUCERS SIER y? = 4ax x? = 4ay y-B)? =4ax—a) (x—a)?=4a(y—p)
(i) *fa TS (0,0) (0,0) (o, B) (o, B)
(i) SAITHT GHIE: (a,0) (0.a) (a+ap) (o2 + )
(iii) TR mfeqa gm%:(—a, 0) (0,—a) (-a+a,pB) (a,—a + B)
(iv) SR TR y=0 x=0 y—B=0 X— =0
(v) FamemEdE Aiead x+a=0 y+a=0 x—a+a=0 y—B+a=0
(vi) Conias aea A X=a y=a X—0=a y—B=a
(vii) T8 =pifeas T X=0 y=0 x—d =10 y=B=0
(viii) Sorefas aeea ad: 4|a| 4|a| 4|a| 4|al
(ix) CHI TGS LTa AT

fevg viow g (a, £2a) (+2a,a) (a+a+2a+p) (+2a+a,a+p)
(x) (y) REeiefas g x+a y+a X—a+a y—B+a

TRy

0| £=ro-Sea




Related Questions:

0. 2x=y?*+ 8y + 22 *Araq TR BT TE- [DU’20-21]
(2) (3,—4) (b) (-3,4) (c) (—3,—4) (d) 3:4)
Wﬁ(ﬂ), 2X=y*+8y+22 2 y2 48y +16 = 2x — 6 = (y + 4)? = 2(x—3) ~ (3,—4)

02. (y+v3)" =8(x+3) " TS CATFTHR (AT ZIIT (A ? [GST’20-21]
@ (2-5) ®) (2435) Yo (2.5) @ (243.)

TA: (c); (v +V3)” = 4.2(x + 3) = Y2 = 4.aX ; B (a, 0)

x=a=}}{+3=2=}x=—1

Y=0=ﬁy+\/_=[]=}}r=._-\f§ -1 +Y
> X
r=.x2+y2=2 3 %]
...1""1.'@- 4n

B=tﬂﬂ '—1_ +—=—3—
Ewmmmw( =)
03. y®+8x—2y— 23 =0 *RIJG (parabola) 99 T#EF (focus) (B2 [JU°20-21]
(a) (1,2) (b) (3,1) (c) (5,1) (d)(1,1)
T (d); y* +8x—2y—23=0=2y2 -2y +1—1+4+8x—23 =0
Dy —2y+1=-8x+24=(y—1)2=—42(x—3) = Y2 = —4.a.X
Y=0=2y—-1=0=y=1
FIFF (—a,0); X=—a=2x—3=-22x=1;Y=0=2y—-1=0.y=1

SRR (1, 1)

04. x? —8x+ 2y + 7 = 0 *ARYCS N T3- [RU’20-21, JU?19-20]
(@) (0, 0) b) (4.3) ©) (-4 -3) (@) (1,2)
STA: (b); X2 — 24x+ 16 + 2y — 9 = 0= (x— 4)? = -2y - 2) ~ ¢ (4.2)

05. 5y?— 2x = 0 ~IJCed TAEH @FD? [Agri. Guccho?’19-20]
@ (03) ® (05) © (55:0) @ (0.55)
THIYA: (¢); Sy% — 2x = 0 = y? -—-E- =4.11—u.x.'.a=1—;
<. AT GAE (x,y) = (2,0) = (5;.0)

06. y? — 3y — 2x + 8 = 0 4 A0S TS 20 AHA7A TAE 97 [JU19-20]
® (5-3) ® (53) ©(53) @ (33)

wma:(%'ewﬂi‘);yz—ZnyE+(§)z=2x—8+(5)2

= (y-2) =2(x-5) R (3.3)
07. X2 + 4x + 4y = 0 *RAEty N7 FAT AI- [RU’19-20]

(a) (—2,1) (b) (2,—1) (c) (1,—-2) d) (—-1,2)
Sy (2); X2 +4x+ 4y =0 =2 x* +4x+4=—4y+4 = (x+2)? = —4(y— 1)

~ Mg = (—2,1) »~ Vertex= (—2,1)
i‘fgf‘&]’%@ﬂ T ﬁ OB
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1 S ..I"' a R " |"| __,.J.-l'lr Y gl 1y
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08.

09.
10.

11.

12.

13.

14.

15.

16.

y* = 4p(x — 2) *mgeh (3, —4) R fior wfowy w3t p @ 17 37 [KU’19-20]
(a) —4 ®)1 (c) 2 (d) 4
SAE: (d); (—4)°=4p(3—2) =2 16=4p ~p=4
y? = 6X IRIITEA Toiaias Awa 0y 7w [Ans: b][JU’18-19]
(a) 8 (b) 6 (c) 4 (d) 5
3y? = 5x *RIgTeT N TS T57 [Ans: e S [JU’18-19]
(a) 5/12 (b) 5/3 (c) 3/5 (d) 1/3
x> — 4x + 12y — 40 = 0 *9Igad SARIT 7w G 07 [JU18-19]
(a) 4 (b) 6 (c) 8 (d) 12
FqYE: (d); (x— 2)% = —12 (y — %)  Here, |4a] = 12
3x% — 4y + 6x — 5 = 0 *mgrea s AT @Hn? [CU’18-19]
@)3y+7=0 (b)x= -7 c)x+y=0 dx=y—3
T (2); 3(x% +2x+ 1) =4y +5+3; x+1)?=4(3)+2)
Yy
0N [

y=-2—-z2y=—2 »3y+7=0

y = 2x + b GRI y? = 16x *RIET =@ g b 7 T 767 [BAU’18-19)
(a) 1 (b) 2 (c) 3 (d) 4
Wﬁl(h);i=b=%=2

y2 — 6X + 4y + 10 = 0 ~RYras STFd AN @07 [TU’17-18]
(@) x =1 G)x+1=0 ©)x=0  @x—2=0

YA (T TEaER) y2 — 6x+ 4y +10 =0 = (y+2)? = 6(x — 1)

-, ARG AR e y + 2 = 0

y2 — 10y + 5x = 0 *«geas 94 e g% Fo7 [TU’17-18]
(a) (0,0) (b) (5,0) (c) (—=5,5) (d) (5,5)

Srer: (d); y2 — 10y +5x =0 = y? —2.y.5 + 25 = —5x + 25

= (y—5)% = =5(x — 5) ~ ™ & (5,5) '

y? = 4y + 4x — 16 AAIGLEq TALICQA AT 97 [JU'15-16,CU'16-17,RU*17-18]
(a) (4,2) (b) 3, 2) (c) (-3,-2) (d) (—4,-2) (e) BT
ANY: (a); y2 — 4y +4=4x—- 1291, (y - 2)? =41 (x—3) T, Y2 = 4AX
CHLHCad CF, X =AW, x—3=1-x=4 Y=0qAy—-2=0 . .y=2

TEY i




R )
TG T oA ARES 5

17. y? +4x + 2y — 8 = 0 HAIre R 79— [DU'16-17]
@ (3.-1) ®) (-3.1) ©) (0.2) @ (2,0)
T (@), y2 +4x+2y 8= 0= y? + 2y + 1= —4x+9 = (y + 1) = —4 (x—2)
AR (2, -1)
18. y* = 4x + By *RIYGHA A a g1 97 [JU'16-17)
(a) (-4.4) (b) (4,.4) (c) (—4,—4) (d) (4,—4)

TAMYE: (a); y> =4x+ 8y = (y—4)? = 4(x+4) .. =§ —(—4,4)
19.  The focal distance of any point on the parabola, y? = 16x is 6; what are the coordinates of the point?
() (2, +V2) (b) (4V2,+2) (©) (2,+4V2) (d) (2,4V2) [RU'15-16]
A (c) ; As (0,0) is the vertex of the parabola y? = 16x, focal distance =a + x .
" 4+x=6 =2>x=2
If=2,theny? =32 ~y= +4V2
.. The coordinates of the required point = (2, + 4\@)
20. 5x? + 15x — 10y — 4 = 0 *[QIJCa TS TN oae- [DU’14-15]
(a) 40x+81 =0 (b)2x+3=0 () 40y +81=0 (d) 40y +41 =0

. (e 2 3 9\ _ 45
ST (0); 5 (x? +2.5.x+2) = 10y + 4 +2

= (x+§)z =-15£(y+E) L X2 =2Y .-.a=%

tY4s=02y++-=02y+2—=0:40y+81=0

21. 3y? = 5x LS SATFTA FAIRT FO7? [RU'09-10,JU’14-15]
(@) (5,0 ®) (.0) (©) (5, 0) (d) (0,2)
Y- (c) 3y? =5x = y% = 4(1—52-)3(; CATTT = (%,0)

22. x2—4x+12y—40=0 RS SARYST T A9- [DU°13-14].

(a) 12 (b) 8 (c) 6 (d) 4
IAAIYI: (2) ; x* —4x+12y—40=0 =>x* —4x+4=—12y+40+4

2oy y 24 _2f = a3
= (x-2) = 12[}' 12) =(x-2 --4:{3[3»' 12]

. Sorafyge sivea o = 4x3=12
q% AT CFLE x Ay K [G9S AT O TR SA e aewd oy =4 |

Question Type-03: #9964 parameter (A(F A4
Boteg 8 AT (STt AP SP = PM RIS e Fda 49

Related Questions:

01. STFERIE x -% 3 AP y —oF 419 RIg0as T8 T — [Ans: c][CU’14-15]
(a) yZ = 4a(x + a) (b) x* = 4a(y — a) () y? = 4a(x — a) (d) x? = 4a(y + a)




L+ 5 = 1(a > b) oiqran Rfon s Birew 72 i €3 S @

Odle gy
(Focus)
," v (Center)
AT
. ﬁ I"’ ‘.I\._ >
Ei - 7 ,'ﬂ 1;
(minor axis) o,
CMiSIkED EEARE
Lo (major axis)
TG CAMITT I (a > b) T, (a < b) T,
%m A x? + y = x + ¥ =1
az ' b2 a? = b?
@Frad gHE (0,0) (0,0)
IR SCFF () 2a 2b
R SCF 4] 2b 22
IR CEFR A y=0 x=0
TH SCHG AP x=0 | y=0
Cerefaae! ([Mrefaasl) 3 b2 a?
e= |1-= e= [1-=
e T x=t- y=+2
CATT Rl A% (tae, 0) (0, £be)
RIEE RIS ERE (%a,0) (0,xb)
TBoTIa< SICed (M9) 2b% 2a
a b
BT GS T TR A x = +ae y = +be
T HRES TS g 2 ae 2 be
2a 2b
e g = 2
QF0 TATTT GIL STHe E— ea b _pe
R M ey
Related Questions:
01. 3x2 + 2y? = 6 ©=Ja (Ellipse) {071 Tetafazef (Eccentricity) $©7? [JU?20-21]
5 2 1
@) 75 (b) f ©) 5 (d)+3

FAH: (c); 3x% + 2y° —6=> +'—=

- LA, F:—Jl—---b-:z F——




02. 9x* + 4y? = 36 SvyreT Seiafire wovn tief Ty [JU’19-20]

(a) = OF OF (d) 9
T (b);-::—:+§=1-'-%ﬂWﬁT-FWE‘Wf“2:= == .

03. 3x*+4y? — 6x = 9 D | f1 TP [RU’19-20]
(a) 9= @O TR (b) RS (c) B*Y@ (d) wiega

TN (€); 3x? +4y2 —6x =9 = 3(x2 — 2x+ 1) + 4y% = 9 + 3
=3 '—1E 2 = (x-1)° -F—:=
(x—1)°+4y?2 =12 = + 5 = 1, T TorgrEd AR |

&
FR® ST = ax? + by? + 2rxy + 2gx + 2fy + ¢ = 0 97 10 G I
a=3;b=4;g=-3c=-9 ~ab=12 ~r?=0 ~ab>r? . Rw

04. = Srtqren it ffi =7 ety (1, —1) Frotees i@t x — y + 2 = 0 @ Seafigwet -

@Qx+7=y (b) 3x* +3y? + 2xy — 12x+ 12y + 4 = 0 [CU’18-19]
(c)3x*+2x=7 (d) 3x* —3y2 —2xy + 12x+4 =0

FAY: (b); SP = ePM = sp? = e?PM2 = (x — 1) + (y + 1)2 =§ "j’;zf

= 4(x* —2x+1+y?+2y+ 1) =x%2+y? + 4 — 2xy — 4y + 4x

= 3x*+ 3y + 2xy—12x+ 12y + 4 =0

05. 4x%+y? =2 Toqaa IR 8 TY SCF (747 JAUFTI- [DU'16-17]
(a) 4and 2 (b) 2 and 4 (c) V2 and 2v2 (d) 2v/2 and V2
ST (d); 4x% +y? = 2 =éf+(5;1 =1 =Wmtﬁ€manm2ﬁﬂ%=ﬁ

06. px?+ 4y? = 1T©9Fa (+ 1,0) 57 e 3191 Togalon o q2te gy 37 [Ans: b][RU'16-17)
()4 @1 (b) 2 | ()8 82 (d)4 82

07. 9x% + 16y? = 144 GoYCEA x -WF U y-9rHe FgE Reeq Ao e T $9?  [Ans: b] [CU'16-17]
(a) —4,—3 (b) 4, 3 (c) 3,4 (d)-4,3 (e)9,16
f7.5.: *ET ST 7T FTFTIH GIGgS T |

08. 'p' 7 M F© T 4x? + Py? = 16 TG (0 + 4) 77 ey sy $a1? [Ans: ¢][CU'16-17]
(a) 16 (b) —16 ()1 (d) -1 (e)0

09. For what value of p the ellipse px? + 4y? = 1 will pass through the two points (+1, 0)? iCU’IS-IG]
(a) 2 (b) 3 (c)1 (dO0 (e) +1
SAIYI: (c); Satisfying the equation px? + 4y? = 1 by the points (+1,0), it is obtained that p=1.

10.  5x*+6y* +12y =0 Tlaadt Aot aa- - [CU’13-14]
(a) wreny Tl (b) T8 (c) Ty (d)ofge  (e) RGeS
TYE: (€); 5x2 +6y* +12y=0 Or, 5x*+6y” +12y+6=6
Or, 5x% +6(y+1)* =6 Or, i;ii+(y+l)z _1 T EoRrEE e

] S5r-Srr




01.

02.

03.

04.

1 = = a .
e e= 1+ [F-5= 1] ;e Jl"‘—; L-X=1]
Example-01: 2x° — y* = 4@1’*‘1@@@?@@%‘?

2 2
==%-—T—1, e= ’1+E~— 1+- =+/3

ST 914
T LT Cerafaaet

= v proe gy — 38 T TOLET G ANE WY @RR
EEIbE y2 = 4ax o=1 WCWE—UW—-—D=PM—1*W

x2 y? e FADH S AT | TG @ G
TRE | gtg=l 0<e<1 | som wm CxEREFel <7 (0) @3 FES
2 2
sfiqe :2_;=1 A 4 G STAIY A |
Related Questions:
25x2 4 16y? = 400 Toraw St w7 [DU*17-18,19-20]
3 w
OF (b) 5 OF (d)
2 2
Tag: (d); 25%% + 16y% = 400 =:-%+';—5.= 1 ~e= Jl —§=-:1
x2 + 4y? = 1 Sogaa SFfaeel 797 [JU*19-20]
V3 1 1
(a) 3 (b) = ©) % @
{ o 4
AqYE: (b); e = 1—'%=-;
2 Y

{x;? | (”ﬁ:) = 1 Toiqran Swatheel To? (TU18-19]
(a) 1 (b) ©7 (@7

3

AY: (b); e = l—ﬁ z
(4,3/2) 9= (3, 2) Repiit @ Togres wway, FAIEE Srrey I 20 Soigaie Sxafies! vo?

(@) 2V3 OF ©% @ 2 [KU*18-19)

- 2 .
SY: (b); Ln\atj,"‘z | L:l: (3.2)ﬁ=f1'frrfhmi+%=1_
=== (1—— (4,5)ﬁ=iwﬁm—+m—1

2
16 9 16 4 9 _ 16 64
S =1—-—>= (1— ):1-—-—:. — =1_i=,.§ 175




05. aﬁm%’wﬁﬂﬁ?%ww WWW?

(a); (b) 7

STHIYEA: (c); e = )1-&:%

06. QI BIILET TATHGS 7T TQ WCFH W4T; e G T FHi?

| (G)—z'

OF= O ©%

e (@ 2= 2b s 2b=a ne= [P [N
07. 3x%+4y* —12@°|§m§%‘€wﬁ-ﬁﬁr?

@3 (b) 2 ©%

e (d); 332 +4y? =12 s 4L =1 ne= [1-3=2
08. JCIT CIfGFS! F97

(a)0 (b) (c) 45°
09. X+ L = 18vigaf® (6, 4) R Frew w1 Soigabs Sl w2

(2) ﬂ (b) 100 (-:) 3

AYI: (a); QRS 2wa SAE (6, 4) 77 e 3w, -—+—— 1=p=100
.-.EWWW=:—;—+——1 f”""zs

(a) WS (b) 3@ (c) FTeeaat
11. §_£ = 1 SRIET CLIFGIOM (e) T FHP
(2) 2 )2 ©%
T () e = |~ =2
12, 2x%-y? = 4 SfEraa TF GOl FO7?
(a) V2 (b) 4 (c) 3
ST (d); 2x2-y? = 4 > 5 - =1
Now, e -—J; J_ =+/3
13. mﬂﬁw%ﬂwﬁﬁﬂ'ﬁmmﬁ?ﬁtﬁm?
(a) ©< (el el (b) RIYT (c) wifege
14, 9x2 + 25y? = 225 %‘-'17:1?5 (ellipse)- 99 Beraiaael (Eccentricity) $97
OF OF OF

W:(G);E-F'E_?‘—'l:’;z‘l‘ai— €= [T
Z5

[BAU*18-19]

V3
(d)
[JU’17-18]
2
d) 3=
[InU’17-18]
1
(d;
[Ans: a][RU’17-18]
(d)1
[JU’15-16]
(d) 5v3
[Ans: ¢][CU’15-16]
(d) *r1y8 (e) ©*1g9
[CU’15-16]
@1 @3
[JU’14-15)
(d) V3
[Ans: d][CU’14-15]
(d) 38
[InU’14-15,CU11-12]
()3




Questiun Type-06:

x?

9
(Latus rectum)

FANSE

(Asymptotes)

Y

4

(@Fﬂg\_ 17 '

%~ L = 1 sfqren fifen e fofremaemz fow ¢ ewrea -

(Center)

H

(Transverse axis)

) ST S

Y
>

forF (Directrix)

(Conjugate axis)
6.5.13 : WY AT Hd - CHCA AN
WRqTEd TR Lo L -Y=1
@A T (0,0) (0,0)
LR [SH AT (R E (£ ae, 0) (0, +be)
A BT (+ a,0) (0, +b)
At ﬂﬁﬁ_‘@m (i%,[]) (U’i-%)
frarTeea ST X = %= y= 42
TGS TR O @ AT gﬁx=iae %‘ﬂy=ibe
T ATl - - 1+:_z . 1+£
WG ST (AT 2a 2b
SR SR (T 2b 2a
G SR TSI y=0 x=0
SR WO AAFA x=0 y=0
Tl TRa 1Y 2ae 2be
ST @R AN y=+2x y=tix
————1 wﬁqmﬁwﬂ?’rwﬁqmm wom= 1 aUvaE Gon S rE Teere S/ |

2B =G wﬂmﬁwxw%ﬁwﬁ@mw ST @ TSRy Y Sewn e w1fEge)




'II-._":_ e i 4
SIAG ‘T eRmeE B
3 » datit
‘\ N 'r i:. =l . &
1 w L Y
— ay =

01.

02.

03.

04.

05.

6514%@1@3&!&6'&%%%

maﬁ—ﬂw a———'—l 97 RFRRER M

(a) ———1—1 SIfPEET (x4, 1) fRrre = pirea wliea =2 - 21 =g

(b) ———1‘1 ‘ﬂﬁw (X1,¥1) WWW‘T X + hz = a? + b?

(c) ———"1 Elﬁﬂ'm y=mx-+cC W“ﬁ‘ﬁf@ﬂﬂﬁﬂl c= +\/(azmz —b?)

(d) xcosa + ysina = p FAqEQY] i——z— 1 Yﬁlﬁ@ﬁ“ﬁﬁsmﬂﬁ‘ﬁp— +vaZ2cos2a—b |

(e -a———_lwﬁqmﬁtﬁww(nuecmrcﬂcle) Q7 ANFd x2 + y2 = a? — b?

(0 (x1.y1) R0 ————lﬂﬁmﬂﬂmmi“ﬁwﬁmmmﬁ—mﬁwﬁwmﬂﬁ“ —1<0
S0 1 > 0 =7

Related Questions:

4x* — 9y? — 16x + 18y — 29 = 0 WXL TACCTTT (T YT 7 [RU20-21)
(a) (1, 2) (b) (-2, 1) () (2,—-1) (d) (2, 1)
AN (d); (2x)* —2.2x.4+ 16 = (3y)? — 2.3y.3+ 9+ 36

A2 A Y 2 _ay2

._:,(HE:) (3}'5:) =1= (I:) —(”:) = 1| SHAITOE (IFCH @R FAQ| ~x =2, y=1

4x? — 9y? — 8x + 18y — 41 = 0 FNIq SPNACLRAT BITEA BT FS7 [SUST?19-20]
4 4 3 2

(@) —35 - (b) -1 ©); (d)= (e) -2

TME: (2); 42 —9y? — 8x+ 18y =41 =2 4(x* —2x+ 1) —9(y2 —2y+1) =41 -5

L5 —1%2
= 4(x—1)2 —9(y — 1)? = 35::(";’2—‘3’4” =1

e, (51 - (52 =0 2= (22)

+ 57, 2x—2=3y—3 --FI?*I'='§

2

— i, 2x— 2= -3y +3 = —=

. DTETATA AT = — =

2x2 — 8y? = 2 Tf{JLaq CAHGFOR TA- [DU’18-19]
(a) 3/(2V2) (b) 3/2 (c)V5/2 (d) \/5/2

WFE(G);};: 3:=1; J_% \f

Xy = 2 A0 ;ﬁ | | [Ans: d][JU’18-19]
(a) 3° (b) “IYS (c) T3 (d) sfqa

(4, 3) e 3x2 —4y? =12 WWWW— [DU’17-18]
(a) -1 (b) 1 (c) % (d)g

s (b); 3x2 — 4y? =12 > bx—By 2 =0=> T =Z =22 =




[Ans: c][RU’17-18]

(c) £x (d) —2x?
07. X+ X = 1 Borran Bonerg 3- | [RU’14-15]
(a) (0,%5) (b) (0,%12) (c) (0,+13) (d) (0,£25)
STATHIS: (a); Ei"";?:l J“I;f ==

ot a (0, tbe) = (O, 113.113) = (0, +5)
08. 9x°+16y” =144 ®=qreq %ﬂquﬁa FART R SAH TGS Aw 7 IAGE-  [JU'09-10,RU’13-14]

@ (7,0)2 () (27,0):2 © @50L @ @S0
=1; a’=16, b*=
o7 a’-b* 7
a> 16
J7
E:-—_..
4

Question Type-07:

¢ P[ARE 8 T TATH G oTF QAN S CFAPe
A= [ydx=[*Vaax dx =222 OrA=[Pxdy= [} /Aaydy =2a
(ii) ©#graa CFaFe A = 4 [ ydx = mab
Example: y? = 8x mﬂ%ﬂwﬁwwww (AT (R

A=2] ydx—Zfrdx~4\f_[]
0

Shortcut |A = ;

I

d
2

Example-01: >+ = 1, @ T (AIGF IR TF 8 FE TF 91| 7SS WCHF CFage] $97?
ma

atm.mw?é—h:“'i“r:% _@

AQIYEEA (I RfSH CFawe 1309 It | UHE Fuomerty/Integration 32 Concept FITS ST I |
Example-02: y? = 16x “IJCSd N A, SAF TGS 10T SIIEEI"‘I P. Q T AAPQ =7
qrFld, PQ = 4a = 16, Aﬁ—a—-——4

2 = 2. z=h-4f-'m
3

s, Area = E x 0A xPQ = Ex4:~:16 = 32unit.




ST o e e

Related Questions:
1
01. y==>x*+ 1 *RE qR 97 THHRYT 9 91 QRS CFms CFawe 76 I U7 [RU’18-19]
3
@) OF ©3 @; | |3

02.

03.

04.

05.

01.

AT (c); X2 = 2(y — 2) » ME= (0,2) - Bo1wm = (0,2.5)
- O WO cvaw = [0 [2(y—2) dy =3+ cb v = £ of

(0, 2)

o gt Mot - + L = 1 Soiqren coramTen o e, o7 Rgrer et o 9 @y

() (b) 20 OF (d) 0 RU’17-18)
FANE: (d); CTIPPIRY 8 TERY G2 AR SRS |

What is the area of the region included by the ellipse 4x2 + 9y2 = 36? [InU’15-16]
(a) 8w sq. unit (b) 27 sq. unit (c) 61 sq. unit (d) 127 sq. unit

ANY]: (c); 4x% +9y? = 36 = fg—z+}; =1 .~ Area = mab = 1. 3.2 = 67

y? = 8x "IYT UL U7 THTI S &% 9 ST CHLG] (AT FO7 [RU’14-15]
(a) 32/3 (b) 8/3 (c) 2/3 (d) 4v2/3

THYF: (a); y2 =4.(2).x . a= 2

32

A=2 [fydx =2 [V/Bxdx = 4V2 "%—i =¥x23i2=§
0

2 2
.’;_4.1’? = 1 THEIT CFEE (T T 4GS IR F 8 FF OF 941 ([{BS ©F CFage $0 351 G337 [CU’14-15]

OF- (b) 2 ©=F (@22

Wﬁ:(d);a=ﬁ=ﬁb=ﬁﬂ=":h=“£

R I | AT R O (@I 5aiad T SR (ST AT AT | GIURa 5o SR 0
I GER P EERE G A (el

Example: x = pt?, y = ZptWﬁﬁEW%?
Y here,t=-z£p- . X = pt? =p.i—£ Ly =4px > EIEE

4p?  4p

Related Questions:

x = pt?,y = 2pt RIS A= vt Sjfo® e — [CU’14-15]
(a) 7T (b) ©oIq@ (c) *RIgE (d) wif¥gs

AAYA: (c); x = pt?;y = 2pt  Now,y? = 4p?t? = 4p(pt?) = 4px ..y? = 4px

Question Type—09 : =P g
ax’+by* +fx+gy+hxy+c=0
ANFALN A [T =M< Bl T&9 | GTF ATH replacement STa T4 IJ |

X+X +
x2 o xx; Y2 Syyy; x » == y » T2

:%m'@'@'ﬂ == _,: | {; Loy !E L_.‘.

il e e 8




01.

02.

03.

04.

05.

06.

07.

08.

Example-01: y =kx — 1, y = x? + 3 3 ~fe gt k =?
y=kx—1l.....(;y=x2+3...... (i) ~x24+3=kx—-1 =2x*—kt+4=0

D=vk?—4-1-4=0 [&R9re AqNw=wela To0 597 =@] ~ k = +4
Example-02: y? = 9x AIgrad (4, ﬁ)ﬁﬂ—“’ﬁ@ﬁﬁw-

6y =9=Y = 12y = 9x + 36 = 3x — 4y + 12 = 0
(a) 3x—4y+12=0 (b)4x—3y—12=0 (c)7x+3y—-5=0 d)7x—3y+6=0

TN (a); (4,6) R vy TN (a) = FrF 202

Related Questions:

y =3x+ 1 @I y? = ax *RIFAT =P 01, =pREE gaE 7972 [RU20-21]
® (5 2) ® (3 1) © 2 3) @G, 2)

AAHIA: (a); y? x:l—%-'-a=12

(3x+1)2—12}:=>9x +6x+1=12x=29%%*—6x+1=0

= 9x? —3x-—3x+1-0=:>(3x 1)2 =0~ :-:-——'y—3><§+1=2

—+— = 1 TIJLeI T y = 2x + c A, ¢ G N F9? [RU*20-21)

(a) + 12 (b) +13 (c) +14 (d) +15
A (b); c? =b?* +a’?m? =25+4x 36 = 169 .. ¢ = +13

C 9T T I A TR0 y = cx(1 + X) ITCEAIT =fes x-S0%a Ak 30° @I SR T2 [RU19-20]

(@) V3 OF © = @3

SAI: (b);ji—i_(cx+cxz) =c+2cx.-.qﬁﬁwlﬂmw-&-1-=c+2c.ﬂ = c=tan30°=%

y = kx Tt y = x% + 4 I@E@T =P 7w k ag 9o qie- [DU’18-19]
(a) 1 (b) 22 (©) 3 (d) 4

TAY: (d); IFEE FlEae y = kx 30T 9018, kx = %2 + 4 =>xz—l{x+4=ﬂ‘°’r'f¢'¢lt=‘fD=

0; k2—414=0 =2k=+4

y = 2x + c GRIT x?/4 + y2/3 = 1 B*{E ~MF T C 97 T 397 | [JU'16-17)
(a) 7 (b) 19 (c) 25 (d) o2 77
W:(d);h—y+c=ﬂmﬁz—+§=lnﬂﬁ“rﬁf ~4xX2243x(-1)2=c? »c=+V19
a8b TN FS Ay = ax? + b *ARGH (0,2) fo g A Te3 @ (2,0) e = nfreea v 4 217 [RU'16-17]
(a) 1,2 ()22 (c) 4,2 (d) @EOT T

T (2); y = ax” + b °RIE(l (0,2) R 122 =04b 2b=2; ¥ =2y d-"’)m}—z-a-2=4.a
eMTe,4a=4 ~.a=1

x? + 4y? = 8 IFTTIR IR P (tangent)x ST T2k 75 e, PHEREY AN FE? [InU’14-15)
(a)x—Z\/_y—N_ (b)x+2vZ = 0 ©x+2V2=0,y+2V2=0 (d)y+2VZ=0
SYE: (b); = +——- 1, x SFF M *19 R x = +a [only (B)option match T ]
y—3x+h@‘fﬁ‘y —&W"W‘f‘ﬁlﬁb O I 97

(2)3/2 (b) =3 (c) ~2/3 d) 2/3
T4 (d); y = 3x+ b, y? = 8x ; Wehnwc-—::b__..

EGN-TT .

[RU’14-15]

-|—'|-|-ﬂ.——|-




